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EXAMPLE: w3 arf = arss)= (55

A mass of 1.5 kg undergoes SHM with a frequency nd an amplitude o rX
(0]

. . . - _
a) What is the maximum restoring force on the body? F_ Mg-

b) Whatis the magnitude of the restoring force when the mass is 0.25 m from its original position?
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EXAMPLE:

h Id between two springs, when displaced, executes simple harmonic motion with a frequency @and an amplitude of
(0em) 1

a) — Calculate the displacement, velocity, and acceleration of the frolle: @ hrough its equilibr t
b) Calculate the maximum speed of the trolley. (d 111,\..,.1 Thrium ')( 0) 7( rxosLnu)

c)  Calculate the mass of the trolley. The for nstant of the two springs, combin ’

d)  Sketch graphs of displacement versus time, veloc me, and e full cycle. Write the
equation of each graph.
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